J. of Ramanujan Society of Mathematics and Mathematical Sciences Vol. 7, No. 1 (2019), pp. 19-30

ISSN (Print): 2319-1023

A NOTE ON THE CONSTANT TERM METHOD TO MOCK THETA FUNCTIONS

Lin Xue, Zhizheng Zhang and Hanfei Song*

Department of Mathematics, Luoyang Normal University, Luoyang, 471934, P.R. CHINA

E-mail: lyxuelin@126.com, zhzhzhang-yang@163.com

*College of Mathematics and Information Science, Henan Normal University, Xinxiang 453001, P.R. CHINA

E-mail: hanfeiSong00@163.com

Dedicated to Prof. A.K. Agarwal on his 70th Birth Anniversary

Abstract: The main purpose of this paper is to show that certain mock theta functions can be expressed as constant terms in the Laurent series expansion of rational functions of theta functions. And, two identities can be proved by using the constant term method.

Keyword and Phrases: Mock theta function, Constant term method, Theta function, Hecke type series.

2010 Mathematics Subject Classification: 11F03, 11B65, 11F27.

1. Introduction

In his famous last letter to Hardy [20], Ramanujan introduced seventeen mock theta functions-four of order three, two groups five in each group of order five and three of order seven without giving an explicit definition. The mock theta functions are interpreted by Andrews and Hickerson [5] to mean a function f(q) defined by a q-series which converges for |q| < 1 and satisfies the following two conditions:

(0) For every root of unity ξ , there is a theta function $\theta_{\xi}(q)$ such that the difference $f(q) - \theta_{\xi}(q)$ is bounded as $q \to \xi$ radially.

(1) There is no single theta function which works for all ξ ; i.e., for every theta function $\theta(q)$ there is some root of unity ξ for which $f(q) - \theta_{\xi}(q)$ is unbounded as $q \to \xi$ radially.

In [24], Watson studied the third order mock theta functions and introduced three new one. Later, McIntosh [18], Andrews and Hickerson [5], Gordon and McIntosh [12], Choi [7,8] studied second-, sixth-, eighth-, tenth-order mock theta functions, respectively. Recently, Andrews [2] and Bringmann, Hikami and Lovejoy [6] obtained some new third-order mock theta functions.

There are many forms of representations for mock theta functions: Eulerian forms, Hecke-type double sums, Appell-Lerch sums, and Fourier coefficients of meromorphic Jacobi forms. To see the history of mock theta functions and their modern and classical developments, we recommend the survey papers [11, 13-15, 21, 25].

Nowadays, the constant term method play an important role in the study of mock theta functions, which relate to Hecke type identities. On the basis [1], Andrews [3] showed that eight of Ramanujan's fifth order mock theta functions [4] arise from constant term identities involving rational expressions of various $\theta(z, q)$. In [22], Srivastava showed some results of certain sixth order [5] and eighth order [23] mock theta functions by employing this method.

The remainder of the paper is structured as follows. Some useful tools and results about the basic hypergeometric series and mock theta functions is collected in Sect.2. In Sect.3, we prove that some mock theta functions can be expressed as constant terms in the Laurent series expansion of rational functions of theta functions. In Sect.4, we prove two identities by using the constant term method.

2. Preliminaries

In this paper, we adopt the standard notation for q-shifted factorials in [10]:

$$(a; q^k)_0 = 1,$$

$$(a; q^k)_n = (1 - a)(1 - aq^k)(1 - aq^{2k}) \cdots (1 - aq^{(n-1)k}),$$

$$(a; q^k)_\infty = \prod_{m=0}^\infty (1 - aq^{mk}).$$

when k = 1 we usually write $(a)_n$ and $(a)_\infty$ instead of $(a; q)_n$ and $(a; q)_\infty$, respectively.

Recall that the Appell-Lerch sums are defined by

$$m(x,q,z) := \frac{1}{j(z;q)} \sum_{r \in Z} \frac{(-1)^r q^{\binom{r}{2}} z^r}{1 - q^{r-1} x z},$$

The classical theta series are defined by

$$j(x;q) := \sum_{r=-\infty}^{\infty} (-1)^r x^r q^{\binom{r}{2}} = (x, q/x, q)_{\infty}.$$

For brevity, we write $J_{a,m} := j(q^a; q^m)$ with $\overline{J}_{a,m} := j(-q^a; q^m)$, and $J_m := J_{m,3m}$. We shall make use of the following mock theta functions: "Second-order" mock theta functions [18]:

$$B(q) := \sum_{n \ge 0} \frac{q^n (-q; q^2)_n}{(q; q^2)_{n+1}}, \qquad \qquad \mu(q) := \sum_{n \ge 0} \frac{(-1)^n q^{n^2} (q; q^2)_n}{(-q^2; q^2)_n^2}.$$

Third-order" mock theta functions [2,6,15]:

$$\begin{split} \psi(q) &:= \sum_{n \ge 1} \frac{q^{n^2}}{(q;q^2)_n}, & \nu(q) &:= \sum_{n \ge 0} \frac{q^{n(n+1)}}{(-q;q^2)_{n+1}}, \\ \phi(q) &:= \sum_{n \ge 0} \frac{q^{n^2}}{(-q^2;q^2)_n}, & \zeta(q) &:= \sum_{n \ge 0} \frac{q^{2n^2+2n}(q;q^2)_n}{(q^2;q^2)_n(-q)_{2n}}, \\ \overline{\psi}_0(q) &:= \sum_{n \ge 0} \frac{q^{2n^2}}{(-q)_{2n}}, & \overline{\psi}_1(q) &:= \sum_{n \ge 0} \frac{q^{2n^2+2n}}{(-q)_{2n+1}}, \\ \overline{\phi}_0(q) &:= \sum_{n \ge 0} q^n(-q)_{2n+1}, & \overline{\phi}_1(q) &:= \sum_{n \ge 0} q^n(-q)_{2n}. \end{split}$$

Eighth-order" mock theta function [12]:

$$T_1(q) := \sum_{n \ge 0} \frac{q^{n(n+1)}(-q^2; q^2)_n}{(-q; q^2)_{n+1}}.$$

Lemma 2.1. [22, Lemma 1] In the annulus $1 < |z| < |q^{\lambda}|^{-1}$ the coefficient of z^0 in the Laurent series expansion of

$$\frac{(q^B;q^B)_{\infty}(q^{\lambda};q^{\lambda})_{\infty}^2\theta(\epsilon z^A q^C,q^B)}{\theta(\frac{1}{z},q^{\lambda})},$$

is

$$\sum_{r=0}^{\infty} \sum_{|Aj| \le r} (-\epsilon)^j (-1)^{r+Aj} q^{B\binom{j}{2} + Cj + \lambda\binom{r+1}{2} - \lambda\binom{Aj+1}{2}}.$$

where $\theta(z,q) = (z,q/z)_{\infty}$. Lemma 2.2. [3, Lemma 1] In the annulus

 $max(|a|,|a|^{-1}) < |z| < min(|aq^{\lambda}|^{-1},|a^{-1}q^{\lambda}|^{-1}),$

the coefficient of z^0 in the Laurent series expansion of

$$\frac{a(q^B;q^B)_{\infty}(q^{\lambda};q^{\lambda})^2_{\infty}\theta(\epsilon z^Aq^C,q^B)\theta(z,q^{\lambda})\theta(a^2,q^{\lambda})}{\theta(z^{-1}a,q^{\lambda})\theta(az,q^{\lambda})\theta(a,q^{\lambda})}$$

is

$$\sum_{r=0}^{\infty} \sum_{|Aj| \le r} (-\epsilon)^{j} (-1)^{r+Aj} a^{-r} q^{B\binom{j}{2} + Cj + \lambda\binom{r+1}{2} - \lambda\binom{Aj+1}{2}} (1 + a^{2r+1}).$$

where B and λ are positive real numbers and A is a nonzero integer.

3. Mock theta functions as coefficient of z^0

Andrews [3] and Srivastava [22] showed that certain classical mock theta functions, corresponding to Hecke-type double sums, can be expressed as constant terms in the Laurent series expansion of rational functions of theta functions. In this section, we will obtain more results of classical mock theta functions by using Lemma 2.1 and Lemma 2.2.

Recently, Andrews [2] and Mortenson [19] deduced some mock theta functions in terms of Hecke-type double sums. In [9], Cui, Gu and Hao obtained Hecke-type double sums for the second and eighth order mock theta functions by using the Bailey pairs and Bailey lemma. we shall make use of these results as follows.

$$J_{1,2} \cdot B(q) = \sum_{n=0}^{\infty} (-1)^n q^{2n^2 + 2n} \sum_{j=-n}^n q^{-j^2},$$

$$\overline{J}_{2,8} \cdot \mu(q) = \sum_{n=0}^{\infty} q^{2n^2 + n} (1 - q^{2n+1}) \sum_{j=-n}^n q^{-j^2},$$

$$J_1 \cdot (1 + 2\psi(q)) = \sum_{n=0}^{\infty} (-1)^n q^{2n^2 + n} (1 + q^{2n+1}) \sum_{j=-n}^n q^{-\binom{j+1}{2}},$$

$$J_1 \cdot \nu(-q) = \sum_{n=0}^{\infty} (-1)^n q^{2n^2 + 2n} \sum_{j=-n}^n q^{-\binom{j+1}{2}},$$

$$J_2 \cdot \overline{\psi_0}(q) = \sum_{n=0}^{\infty} q^{4n^2 + n} (1 - q^{6n+3}) \sum_{j=-n}^n (-1)^j q^{-j^2},$$

$$J_{2} \cdot \overline{\psi_{1}}(q) = \sum_{n=0}^{\infty} q^{4n^{2}+3n} (1-q^{2n+1}) \sum_{j=-n}^{n} (-1)^{j} q^{-j^{2}},$$

$$J_{2} \cdot \zeta(q) = \sum_{n=0}^{\infty} q^{4n^{2}+2n} (1-q^{4n+2}) \sum_{j=-n}^{n} (-1)^{j} q^{-j^{2}},$$

$$\overline{J}_{1,4} \cdot \phi(q) = \sum_{n=0}^{\infty} (-1)^{n} q^{2n^{2}+n} (1+q^{2n+1}) \sum_{j=-n}^{n} (-1)^{j} q^{-3j^{2}/2+j/2},$$

$$\overline{J}_{1,4} \cdot \nu(q) = \sum_{n=0}^{\infty} (-1)^{n} q^{2n^{2}+2n} \sum_{j=-n}^{n} (-1)^{j} q^{-3j^{2}/2+j/2},$$

$$J_{1,2} \cdot (1+q\overline{\phi_{0}}(q)) = \sum_{n=0}^{\infty} q^{4n^{2}+n} (1-q^{6n+3}) \sum_{j=-n}^{n} (-1)^{j} q^{-3j^{2}-j},$$

$$J_{1,2} \cdot \overline{\phi_{1}}(q) = \sum_{n=0}^{\infty} q^{4n^{2}+3n} (1-q^{2n+1}) \sum_{j=-n}^{n} (-1)^{j} q^{-3j^{2}-j},$$

$$J_{2,4} \cdot T_{1}(q) = \sum_{n=0}^{\infty} q^{4n^{2}+3n} (1-q^{2n+1}) \sum_{j=-n}^{n} (-1)^{j} q^{-2j^{2}-j}.$$

Theorem 3.1. We have

1. $J_{1,2} \cdot B(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{(q^2;q^2)_{\infty}(q^4;q^4)_{\infty}^2\theta(zq^3,q^2)}{\theta(\frac{1}{z},q^4)}.$$
(1)

in the annulus $1 < |z| < |q|^{-4}$.

2. $\overline{J}_{2,8} \cdot \mu(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q(q^2;q^2)_{\infty}(q^4;q^4)_{\infty}^2\theta(zq^3,q^2)\theta(z,q^4)\theta(q^2,q^4)}{\theta(-z^{-1}q,q^4)\theta(-zq,q^4)\theta(-q,q^4)}.$$
(2)

in the annulus $|q|^{-1} < |z| < |q|^{-3}$.

3. $J_1 \cdot (1 + 2\psi(q))$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{q(q^3;q^3)_{\infty}(q^4;q^4)_{\infty}^2\theta(zq^3,q^3)\theta(z,q^4)\theta(q^2,q^4)}{\theta(z^{-1}q,q^4)\theta(zq,q^4)\theta(q,q^4)}.$$
(3)

in the annulus $|q|^{-1} < |z| < |q|^{-3}$.

4. $J_1 \cdot \nu(-q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{(q^3; q^3)_{\infty}(q^4; q^4)_{\infty}^2 \theta(zq^3, q^3)}{\theta(\frac{1}{z}, q^4)}.$$
(4)

in the annulus $1 < |z| < |q|^{-4}$.

5. $J_2 \cdot \overline{\psi_0}(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q^3(q^6;q^6)_{\infty}(q^8;q^8)^2_{\infty}\theta(-zq^7,q^6)\theta(z,q^8)\theta(q^6,q^8)}{\theta(-z^{-1}q^3,q^8)\theta(-zq^3,q^8)\theta(-q^3,q^8)}.$$
(5)

in the annulus $|q|^{-3} < |z| < |q|^{-5}$.

6. $J_2 \cdot \overline{\psi_1}(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q(q^6;q^6)_{\infty}(q^8;q^8)_{\infty}^2\theta(-zq^7,q^6)\theta(z,q^8)\theta(q^2,q^8)}{\theta(-z^{-1}q,q^8)\theta(-zq,q^8)\theta(-q,q^8)}.$$
(6)

in the annulus $|q|^{-1} < |z| < |q|^{-7}$.

7. $J_2 \cdot \zeta(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q^2(q^6;q^6)_{\infty}(q^8;q^8)^2_{\infty}\theta(-zq^7,q^6)\theta(z,q^8)\theta(q^4,q^8)}{\theta(-z^{-1}q^2,q^8)\theta(-zq^2,q^8)\theta(-q^2,q^8)}.$$
(7)

in the annulus $|q|^{-2} < |z| < |q|^{-6}$.

8. $\overline{J}_{1,4} \cdot \phi(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{q(q)_{\infty}(q^4;q^4)_{\infty}^2\theta(-zq^3,q)\theta(z,q^4)\theta(q^2,q^4)}{\theta(z^{-1}q,q^4)\theta(zq,q^4)\theta(q,q^4)}.$$
(8)

in the annulus $|q|^{-1} < |z| < |q|^{-3}$.

9. $\overline{J}_{1,4} \cdot \nu(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{(q)_{\infty}(q^4; q^4)_{\infty}^2 \theta(-zq^3, q)}{\theta(\frac{1}{z}, q^4)}.$$
(9)

in the annulus $1 < |z| < |q|^{-4}$. **10.** $J_{1,2} \cdot (1 + q\overline{\phi_0}(q))$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q^3(q^2;q^2)_{\infty}(q^8;q^8)_{\infty}^2\theta(-zq^4,q^2)\theta(z,q^8)\theta(q^6,q^8)}{\theta(-z^{-1}q^3,q^8)\theta(-zq^3,q^8)\theta(-q^3,q^8)}.$$
(10)

in the annulus $|q|^{-3} < |z| < |q|^{-5}$.

11. $J_{1,2} \cdot \overline{\phi_1}(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q(q^2;q^2)_{\infty}(q^8;q^8)_{\infty}^2\theta(-zq^4,q^2)\theta(z,q^8)\theta(q^2,q^8)}{\theta(-z^{-1}q,q^8)\theta(-zq,q^8)\theta(-q,q^8)}.$$
(11)

in the annulus $|q|^{-1} < |z| < |q|^{-7}$.

12. $J_{2,4} \cdot T_1(q)$ is the coefficient of z^0 in the Laurent series expansion of

$$\frac{-q(q^4;q^4)_{\infty}(q^8;q^8)^2_{\infty}\theta(-zq^5,q^4)\theta(z,q^8)\theta(q^2,q^8)}{\theta(-z^{-1}q,q^8)\theta(-zq,q^8)\theta(-q,q^8)}.$$
(12)

in the annulus $|q|^{-1} < |z| < |q|^{-7}$. **Proof.** For (1), setting $\epsilon = 1, A = 1, B = 2, C = 3$ and $\lambda = 4$ in Lemma 2.1. For (2), setting $\epsilon = 1, A = 1, B = 2, C = 3, a = -q$ and $\lambda = 4$ in Lemma 2.2. For (3), setting $\epsilon = 1, A = 1, B = 3, C = 3, a = q$ and $\lambda = 4$ in Lemma 2.2. For (4), setting $\epsilon = 1, A = 1, B = 3, C = 3$ and $\lambda = 4$ in Lemma 2.1. For (5), setting $\epsilon = -1, A = 1, B = 6, C = 7, a = -q^3$ and $\lambda = 8$ in Lemma 2.2. For (6), setting $\epsilon = -1, A = 1, B = 6, C = 7, a = -q$ and $\lambda = 8$ in Lemma 2.2. For (7), setting $\epsilon = -1, A = 1, B = 6, C = 7, a = -q^2$ and $\lambda = 8$ in Lemma 2.2. For (8), setting $\epsilon = -1, A = 1, B = 1, C = 3, a = q$ and $\lambda = 4$ in Lemma 2.2. For (9), setting $\epsilon = -1, A = 1, B = 1, C = 3$ and $\lambda = 4$ in Lemma 2.1. For (10), setting $\epsilon = -1, A = 1, B = 2, C = 4, a = -q^3$ and $\lambda = 8$ in Lemma 2.2. For (11), setting $\epsilon = -1, A = 1, B = 2, C = 4, a = -q$ and $\lambda = 8$ in Lemma 2.2. For (12), setting $\epsilon = -1, A = 1, B = 2, C = 4, a = -q$ and $\lambda = 8$ in Lemma 2.2.

4. Simple proofs of two Liu's identities

In fact, the constant term method not only can study mock theta functions but also prove some well known identities. In this section, we prove two Liu's identities that derived from an expansion formula for q-series. We believe that the method use here can be applied to prove many other identities.

Identity I. (Liu, [16, eq. (8.22)])

$$(q)_{\infty}(q^2;q^2)_{\infty} = \sum_{n=0}^{\infty} \sum_{j=-n}^{n} (-1)^j (1-q^{2n+1}) q^{2n^2+n-j^2}.$$
 (13)

Proof. Taking $\epsilon = -1, A = 1, B = 2, C = 3, a = -q$ and $\lambda = 4$ in Lemma 2.2. Then the right side of (13) is the coefficient of z^0 in the Laurent series expansion of

$$\begin{split} & \frac{-q(q^2;q^2)_{\infty}(q^4;q^4)_{\infty}^2\theta(-zq^3,q^2)\theta(z,q^4)\theta(q^2,q^4)}{\theta(-z^{-1}q,q^4)\theta(-zq,q^4)\theta(-q,q^4)} \\ &= \frac{-q(q^2;q^2)_{\infty}(q^2;q^4)_{\infty}^2(q^4;q^4)_{\infty}^2\theta(-zq^3,q^2)\theta(z,q^4)}{(-q;q^2)_{\infty}\theta(-z^{-1}q,q^4)\theta(-zq,q^4)} \\ &= \frac{-q(q)_{\infty}(q^2;q^2)_{\infty}(q^4;q^4)_{\infty}(-zq^3,-z^{-1}q^{-1};q^2)_{\infty}(z,z^{-1}q^4;q^4)_{\infty}}{(-z^{-1}q,-zq^3;q^4)_{\infty}(-zq,-z^{-1}q^3;q^4)_{\infty}} \\ &= -(q)_{\infty}(q^2;q^2)_{\infty}\sum_{n=-\infty}^{\infty}(-1)^nq^{4\binom{n}{2}}z^{n-1}, \end{split}$$

in the annulus $|q|^{-1} < |z| < |q|^{-3}$. We get the coefficient of z^0 , when n = 1 and is

$$(q)_{\infty}(q^2;q^2)_{\infty}.$$

This completes the proof.

Identity II. (Liu, [17, eq.(3.19)])

$$\frac{(q^2; q^2)_{\infty}^2}{(q; q^2)_{\infty}} = \sum_{n=0}^{\infty} \sum_{j=-n}^{n} (-1)^n (1+q^{2n+1}) q^{3n^2+2n-2j^2-j}.$$
 (14)

Proof. Taking $\epsilon = 1, A = 1, B = 2, C = 3, a = q$ and $\lambda = 6$ in Lemma 2.2. Then the right side of (14) is the coefficient of z^0 in the Laurent series expansion of

$$\begin{split} &\frac{q(q^2;q^2)_{\infty}(q^6;q^6)_{\infty}^2\theta(zq^3,q^2)\theta(z,q^6)\theta(q^2,q^6)}{\theta(z^{-1}q,q^6)\theta(zq,q^6)\theta(zq,q^6)} \\ &= \frac{q(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}(q^6;q^6)_{\infty}\theta(zq^3,q^2)\theta(z,q^6)}{(q;q^2)_{\infty}\theta(z^{-1}q,q^6)\theta(zq,q^6)} \\ &= \frac{q(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}(q^6;q^6)_{\infty}(zq^3,z^{-1}q^{-1};q^2)_{\infty}(z,z^{-1}q^6;q^6)_{\infty}(zq^3,z^{-1}q^3;q^6)_{\infty}}{(q;q^2)_{\infty}(z^{-1}q,zq^5;q^6)_{\infty}(zq,z^{-1}q^5;q^6)_{\infty}(zq^3,z^{-1}q^3;q^6)_{\infty}} \\ &= -\frac{(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}j(z;q^6)j(zq^3;q^6)_{\infty}z^{-1}}{(q;q^2)_{\infty}(q^6;q^6)_{\infty}} \\ &= -\frac{(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}}{(q;q^2)_{\infty}(q^6;q^6)_{\infty}}\sum_{n=-\infty}^{\infty} (-1)^n q^{6\binom{n}{2}} z^{n-1} \sum_{m=-\infty}^{\infty} (-1)^m q^{6\binom{m}{2}}(zq^3)^m, \end{split}$$

in the annulus $|q|^{-1} < |z| < |q|^{-5}$. We get the coefficient of z^0 when m = -n + 1and is

$$\begin{aligned} &\frac{(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}}{(q;q^2)_{\infty}(q^6;q^6)_{\infty}} \sum_{n=-\infty}^{\infty} q^{6n^2-9n+3} \\ &= \frac{(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}}{(q;q^2)_{\infty}(q^6;q^6)_{\infty}} q^3(-q^{-3},-q^{15},q^{12};q^{12})_{\infty} \\ &= \frac{(q^2;q^2)_{\infty}^2(q^3;q^6)_{\infty}}{(q;q^2)_{\infty}(q^6;q^6)_{\infty}} (-q^9,-q^3,q^{12};q^{12})_{\infty} \\ &= \frac{(q^2;q^2)_{\infty}^2}{(q;q^2)_{\infty}}. \end{aligned}$$

This completes the proof.

Acknowledgements

This research is Supported by the Youth Backbone Teacher Foundation of Henan's University (Grant No. 2016GGJS-117) and the National Natural Science Foundation of China (Grant No. 11871258)

References

- G. E. Andrews, Hecke modular forms and the Kac-Peterson identities, Trans. Amer. Math. Soc, 283 (1984), 451-458.
- [2] G. E. Andrews, q-Orthogonal polynomials, Rogers-Ramanujan identities, and mock theta functions, Proc. Steklov Inst. Math, Dedicated to the 75th Birthday of A. A. Karatsuba, 276 (2012), 21-32.
- [3] G. E. Andrews, Ramanujan's fifth order mock theta functions as constant terms in Ramanujan Revisted: Proc. of the centenary conference, Univ. of Illinois at Urbana-Champaign, Acad Press, 1988.
- [4] G. E. Andrews, The fifth and seventh mock theta functions, Trans. Amer. Math. Soc, 293 (1) (1986), 113-134.
- [5] G. E. Andrews and D. Hickerson, Ramanujan's lost notebook VII: the sixth order mock theta functions, Adv. Math, 89 (1991), 60-105.
- [6] K. Bringmann, K. Hikami and J. Lovejoy, On the modularity of the unified WRT invariants of certain Seifert manifolds, Adv. Appl. Math, 46 (2011), 86–93.

- Y. -S. Choi, Tenth order mock theta functions in Ramanujan's lost notebook, Invent. Math, 136 (1999), 497-569.
- [8] Y. -S. Choi, Tenth order mock theta functions in Ramanujan's lost notebook. II, Adv. Math, 156 (2000), 180-285.
- [9] S. P. Cui, Nancy S. S. Gu and L. J. Hao, On second and eighth order mock theta functions, Ramanujan J, (2018), https://doi.org/10.1007/s11139-018-0045-4
- [10] G. Gasper and M. Rahman, Basic Hypergeometric Series, Encyclopedia of Mathematics and its Applications, 35, Cambridge University Press, Cambridge, 1990.
- [11] B. Gordon and R. J. McIntosh, A survey of classical mock theta functions, in "Partitions, q-series, and modular forms", Adv. Math, 23 (2012), 95-144.
- [12] B. Gordon and R. J. McIntosh, Some eighth order mock theta functions, J. London. Math. Soc, 62 (2) (2002), 321-335.
- [13] D. R. Hickerson, A proof of the mock theta conjectures, Invent. Math, 94 (1988), 639-660.
- [14] D. R. Hickerson, On the seventh order mock theta functions, Invent. Math, 94 (1988), 661-677.
- [15] D. R. Hickerson, E. T. Mortenson, Hecke-type double sums, Appell-Lerch sums and mock theta functions, I. Proc. Lond. Math Soc, 109 (3) (2014), 382-422.
- [16] Z. -G. Liu, An expansion formula for q-series and applications, Ramanujan J, 6 (2002), 429-447.
- [17] Z. -G. Liu, On the q-derivative and q-series expansions, Int. J. Number Theory, 9 (8) (2013), 2069-2089.
- [18] R. McIntosh, Second order mock theta functions, Can. Math. Bull. 50 (2) (2007), 284-290.
- [19] E. Mortenson, On three third order mock theta functions and Hecke-type double sums, Ramanujan J, 30 (2013), 279-308.

- [20] S. Ramanujan, Collected Papers, Cambridge University Press, 1972, reprinted Chelsea, New York, 1962.
- [21] S. Ramanujan, The lost notebook and other unpublished papers, Narosa, New Delhi (1988).
- [22] B. Srivastava, An application of the constant term method to Ramanujan's mock theta functions, New Zealand J Math, 42 (2012), 71–82.
- [23] B. Srivastava, Hecke modular form expansions for eighth order mock theta functions, Tokyo Journal of Mathematics, 28 (2) (2005), 563-577.
- [24] G. N. Waston, The final problem: an account of the mock theta function, J. London. Math. Soc, 11 (1936), 55–80.
- [25] S. Zwegers, Mock Theta Functions, Ph. D. Thesis, Universiteit Utrecht (2002).